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SECTION B
15.(2)  Name two apparatuses that can be used for determining accurate volume in a
Taboratory (2marks),
A

(b)  One of the flames produced by Bunsen burner is the luminous flame

i) Explain why this flame i bright « . (tmark
LR R R e s e L. . )

State two disadvantages of the luminous flame (2marks)

- Seoty

() Airis usually one of the substances that is considered as a mixture
o) IdWe twomost abundan\t/cgmpmcnt of air (2marks)

(i) Gi&?wo reasons why the air s considered as a mixture

(iti)  One of the components of air is carbon (iv) oxide. Describe an experiment that

can be used to prove the presence of carbon (iv) oxide in the air (2marks)
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10. (a) Calculate the number of s=dium atorsa present in 40g of sodium metal

[7=6.02X10%  Na=23] (3mks)
Mﬂ@o’a Na;>4%z= 1-739 mius .
Bul Mo = Mg No Jeihcles
" Avegedni No ; .
O o = ). 0 .
Q (ahelos = J.129X & 210"

= e &
"DS‘I 94X 10

o) Calciatethe molariyof s hydroxide f 40 o sodum hydrorde was disslved water to
make 500ml of solution. @mis) (- 3
6=23 -1=1 021
Mes § NeOfj 2, 40 ey 5 [

:mﬁéﬂhg MQ&/{E = loovx {

EPa IV

11, Describe an experiment to show that group one element reacts with cold water forming an alkaline
solution. (3mks)

Al a Smdl gaun e @Oﬂ\a\ O Sodmm//@ﬂwm /ldhum

Plse w in & lecer Contaung oy f udar - v

el e ullu@ Y)Y 8 : 7
12.Name%remgrij;s“éﬁaiconemnn. 5&&1&3.’1 Rl & “4(137"\‘2)09” we

Over W Nelhe d v

downWeard o\o,ln/g{\)\/

uperd ddiverly

13. (i) Candle wax is mainly compound consisting of the elements. Name the two elements (2mks)

de{“ sen
Carbon v’
(i) State one industrial use of hydrogen gas (2mk)

Herdoig ) ol to Jat v~ // lg g (Jlows b
Hin, Ml O Ko R Cly. ok z

14. (a)Write the chemiesl formul4of rust =z mk)
12,0:8H,0 v

(b) List 3 methods of prevent rusting (amks)

- (Qiélrgféllu'&/
7 v

aEah
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5. Describe how 3 =alid sample of copper (i nitrate can be preparad in the lab starting with copper metal

Heate Che N Cudle o ol L0 v

Aiolﬂ@)(fw C%O b Lo AT Me) cad ond)
e Fllor D bok e dilhele gkl i o0 mon”

allbw  sdurak g sﬂumm d» G | dg A epysiely

d’D/maJ n Sahieon d]
7. (a) State Charles law (1mk)
\}’ﬂw 0 m Mesy @ i dady ) annad do
S our e (ol 0]
(b)Agas Seumez0 et (1850 g TRt Fetatul 60 136 Geards Cius. what

would be its volume at stp.

(3mis) -
Pr = Sl 0= Thommtls | i L \/2= $ToX 300 x 273

V| =8B0om)| Vo= = % 187X 760
Ti=-136+213 T,2218 . !
-1l S V.1 N = Mesgem® v

. (a) State Gay Lusacs law. (1mk)

"W Goges Combrts Ay chy 50 15 eflumar A o
Simgle. Fahes T and ' ol m& dv rocudk | abeous .
(b) Under certain condition methane react with steam forming carbon (ii) Oxide and Hydrogen. Calculate

the total volume of the of gas that would be form when a 100ml of steam react completely with
methane (2mks)

CHg a5t HeOgy—=> CO g 43,
toom|
co = |oom\ 1
Hy = 100x3=Z200ml v 1~
9. Ammonia and nitric (v) acid are used to manufacture ammonium nitrate. Calculate the amount of nitric
(v) acid required to manufacture 1000kg of ammonium nitrate using excess ammonia gas. [N = 14,

H=1, 0=16] (3mks)
NH N
3@ N> NPO’Noé’ez) v
M{les NIiFNO, 5> 1000 .5 |00 © x155%
0 (atveen) i | [ RT3 ,‘nﬂn
Mbes ) HNOg 2> 2. migs (inlls cho l-l) s ) 1O, = 12,30
Mess () HNOg 2> [R5X (i+1Hexs) WJD 0, 1250016 3
P L |
—— I osadig
PogeIOTI0
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4. Using dots () and cross(X) diagram, show the bonding in; [C=16  Cl=17 K=19 S=16]
() Potassium Suiphide

X— z
K=pggl S-28¢ 7
g e Z {
Whs kS /l A 6o
T

(ii) Carbon tetrachloride

C:Ri4 X))
el ~2g: ()

5. During laboratory preparatioin of Oxygen, Manganese (iv) Oxide is added to reagent H.

(i) Name reagent H. (1mk)
Hydie gen Geatide VvV~

(ii) State the role of Manganese (iv) Oxide in this expenmen( (1mk)
Ca NER 0 .w

(iii) Write the chemical equation for the reaction lhal (nok p!ace )

EﬁaOﬁo_) _MiOs Ogzg, t RHa0, A

6. Salt may be classified as soluble or insoluble salt.
a. Select from the following list a pair of compounds that can be used to prepare soluble and insoluble
salts.

Nitric acid, lead nitrate, Potassium Nitrate, Barium Oxide, Sodium Chloride

(i) Soluble salt (1mk)
BaO ¢ # N v
(ii) Insoluble salt (1mk)

NaCl ¢ PbCNog)Q\\/

Page20f 10




image10.jpeg
©) Distinguish between anhydrous salt and dry salt (Imk)
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SCHOOLS

CHEMISTRY FORM
END TERM 1 2022
TIME:2 HOURS

Instructions:

‘This paper consists of two sections,EACH section 50 marks.
All working MUST be clearly shown.

SECTION A

1. 60 ml of ozone gas diffused through a porous partition in 5 min 10 sec. how many seconds would it take
80 ml of nitrogen (i) oxide to diffuse through the same partition under same condition.  N=14, 0=16)

Eom\ =y apxc ||rr _— (NS (3mks)
S :>>2 Moo v
BoX3lvc Az =tuzx(‘/@9
6o X3
ﬂ/o\jy; =3 sec
Toq 32
2. Below afé 3isotdpes of element Neon. Study it and answer the questions that follows.
Ne- 20 90.9%
Ne-21 0.3%
Ne-22 8.8%
(3 What are isotopes R (1mk)
chind Elmeals hek heve Some alomic numse SulC

AQ]KQM MASLS NUMar

(i) CalcUlate the relative atomic mass of Neon (3mks)

QA = (20X90-9)+@ixou )t @ass) v
L g 3
=OROMTY A

3. 0.28g of Aluminium reacted completely with Oxygen gas. Calculate the volume of oxygen used. [molar

gas volume = 24= dm3 Al =27 0=16] (3mks)
Fhly 15050, 724130, Bk il
Miles oty Al=0282,= ©. D104 Ve = 00078 X224
Wios ) 0, (el 4:3) - 0: 013 =00 Igydnt 5"

4 :o\c;}mgmma
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Water Dilute HiSOung

Somtlon & Solution B

Hyarogen cmc

Mixed

‘White Precipitate D

Dilute HCluy

Colourless Solution E]

@) Give the name and the formula of the following (@mk)
Name Formula
Solut -
she Sodium hgide 41 NaDH N
Precipitate D_ " B
* SOuls~ B - Zinc Chlodide. v ZnCla:

b) Give the equation for the;
i) Formation of B and gas C (2mk)
Atk H&XO&@J—QQH§D‘K%T h Hﬂfs>(/£

ii) Formation of solution A and hydrogen gas

am) 2Naey +2H, Q) —2NaOR

©) Describe a chemical test for gas C . i (2mk)

|

d) Give two observations made when sodium metal is placed on water (2mk)

G A
- h\&é\% Sound cb
= l&n\\g, SDQMMYS,.

el D e e
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(d) Name the process that takes place in chamber Y. A mark)

Filleahon v

(¢) State any 2 by-products recycled in the process.
Aromonig

() state one use of calcium chloride
da % C\A?E/\t l\Ql‘(ﬁ\C\(ﬂf&\ﬂ4 6 hjd,%qo s v
1mks - /]I adradin O N docr Nel gy loweng mg pNc)-

() Mention any 2 uses of soditim carbonate. (2 mark)

18. Study the set up below.

Anhydrous

|
Tron wool ‘!a/ calcium chloride
A

Dry chlorine __

i Itt ' i Salt K

a) Name salt K (1mk) q
iron( Chloride v~

(b)Write the equation for the reaction for the formation of salt K (1mk)

LFe s ¥3C2e, —2F2Cla ) =
(c)What property of salt A is exhibited as shown in the experiment.(1mk)
It Sublimes -
(d)What is the purpose of anhydrous calcium chloride? Explain (2mk) 2
“lo Lo Moshere &L bgy Since FeCly 1t clolpuasedt
Subsfrnce. d v
(e)Name another metal that can be used to produce similar results (Imk)

Aluminoon

19. The scheme below shows the preparation of a certain salt. Study it and answer the questions that follow
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h) Draw (a) dot () and cross (x) diagram to represent the tonding in compound formed
between T and Y(2 marks) 3+

17. The chart below represents the main steps in the large-scale manufacture of sodium carbonate.

A
Chamber X Amponiated brine Solvay
Tower
a
CaCla
eat ChamberY —f———+———
Solution C +
0|  Slaker Heat fate}
HQ o)
B
co,
Timestone | Kiln :
Sodium
carbonate

(2) Name substances A and B.
. homon
5...Call

(1 mark)

ddde. v~

(b) Write down the chenical equation leading to formation of C. (1 mark )

Oy, + H,0 Oy —> Calotaeg, v

(1 mark)

(c) A stream of cold water is made to circulate around chamber X. What does this
suggest about the reaction taking place. (1 mark )
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16. The grid below forms part of the periodic table. Stady it and answer the questions that follow.
The letters do not represent the actual symbols of the elements

[ T v [w]lv([m
Q st u [NV x
R z
) Write the general name given to the element P belong.  (1mark)

Alali . mekals v

b) An element N has an atomie mumber of 16, Write down its electronic arrangement and
‘hence fix it in its right position on the grid above.  (2marks)

Flectronic arrangement
) Compare the size of the
Sy

and that of its jon. Explain your answer. (2marks)
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